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Cluster: 0181 ptr; resid: 0.26; r/c: 20/79

x.range

upstream meme PSSM #1; e=2.1e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=3.2e+04

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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1691133633
22955

30585

14996
23798

39247
39419

39648

42151
4402

47627

47943

48118

50058

50067

50071
50302 51232

51630

string −500 −400 −300 −200 −100 −1
47943−0.03
51630−0.05
50302−0.16
42151−0.22
33633−0.25
39247−0.27
48118−0.33
14996−0.43
50058−0.45
39648−0.73
50071−0.85
51232−4.47
22955−5.29
39419−5.41
47627−5.49
16911−5.61
50067−5.75
30585−6.13

4402−6.18
23798−7.72

log10(P) upstream meme1 2 log10(P.clust)=−2.79; 20 seqs; 20 uniq
c(0.5, 2.5)
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